i HREL

Z |BEE F# TFEHE=2 | LSHEH
26 B HE SR ER FEKKCELH
3 {iL
B INFEIERF
B |BX XH#E ERES BREL /N
241 [fHu s SRAEE BRI
3 {iL
B INE2ERF
BB L RFE ERES i/
2461 |5 B3t BXE=28 |ER/NER
36 |[FEX ImEd MERKXEFE [¥ER/ND
B INFEIERF
Z  EI EA ERES BREF/N
26 |FIl =X ERES PR
3L |ER K MERBE [BIER/MER
J INFAERTF
2 [E8 BEEKER RESZED [REH/DER
241 |=EH BEAR RESZED [ZERNER
36 |FH Kk EFHE=2 [BRE/D
B INFEHERF
Z% |[EH £3N ERES =)
241 |BgE mRE BXE=2 |FEEIMER
36 g Eif ERES /I
o INECEBT
2 [ FEE ERES /I
24 |FLE #E ERXRE=E TEH/NER
3 [#FEX b3l ERES FhEZ /N
B INET - 25 & F
EZE |EH #WBE REREZEB [RE/DER
24  |BE B BXE=28 |FEE/IMER
3L |wE B ERE=2 TEH/NER
s INEIFELZF
2 [ARB KB EREE (KD
241 [t BY MERKFR | KFR/DER
36 [ FiE MESZE |EENMER
J INEAERTF
Z |[EE ER BRXE=2  |HIENNER
26 |Eh PHEF ERES BREF/N
3 |E8 =RF MESXRFE | KFRER/MER
s INED - 6K F
2 |)E R ‘f’iﬁ%ﬁﬁiﬁ B/
261 [FH /NMBE EFHE= RE/N
36 [IEXR MERS E SRNER




HF HRBEL

2 [(fEt EE MERKFR | KFR/DEKR
26 B HE SHAER FKRKZELE
36 /by EBZ 1&%3515 Ei4
3 |BEE HFi# TFEHE= L&Y
HFE MEIFEBEF
B |BX XH#E ERES BREL /N
241 [fHu s SRAEE BRI
3 i
HF MRIFELF
Z (% Yy MERXKFR | KFR/DEKR
241 [BH HBE MERXFR REFTHHE
3 {iL
T IEERT
2 L JRE ERES i)
261 |EHR B3 BXE=28 |FEEIMER
3L |BEXR i MMESKFE ¥R/
3fii |#EHA Xt EFHE=2 | KB/
HHF IME2FELF
EE |EH AR RESZED [REH/DER
261 = 15 MESZE  |EENER
36 |[1TX EfE MERKFR [BEHNMER
3L |FmE = EBRXE=2 | Tal/hER
T NEIERT
Z  [EI EA ERES BREF/N
26 |EH BEEZE MESXRFE | KFRER/MER
3L |miE BlE E=FEE  |E8/0)
3L |ER K MERBE  [BIERMER
HHF IMEIFELF
Z (% 5V MERXKFR | KFR/DEKR
261 |R% FiE MESZE  |EENER
3L |ARHE KB EREE (R
MF INPIERT
B2 B3 #X MESXRFE [IUAR/DMER
2 |=H BEKER REREZEB [RE/DER
3fz |[=EH HEEA RERSED |ZERINER
36 |FH #HE EFFHE=2 |BEE/D
HHF IMPAFELF
B2 |28 =EF MERXKFR | KFR/DEKR
241 =% 7TERR MERXKFR | KFR/DEKR
36 |[Eih PF ERES BREF/
36 /M EE MESZE |EENER
HFE NESEBEF
Z% |[EH £N ERES R
241 | K¥E IE MESKRFE | KFER/MER
3L |t2H K5 ERES FaEg/
3L |tEH =EH MESXRFE | KFRER/MER




HF NFEOFELF

2R [AE R £ BB 5 HEYN
261 |FEH F<H MESKEFE | KEFR/NER
3 L
HF NFOFHF
B |[BA £ B 5 PRz /N
2fi |mE EE £ B 15 YRR /N
36 [=H K& £ B S YN
3fi [##& Wt MESEE |SERNMER
HF INFOFLF
B I K& £ a5 AN
26 |TFH /R EFHE=Z |F/D
36 |IFR iz MERSE |SRNER
3fii |Ef #E EFHE=L |BE/N




ik $)R B L DER

=

NIE 5 7R E B G

Btz | X% & 2% \ TEC [ATH Total
REEH EFHE=2 [H001 AT aFY 15.12| 6.54 21.66
2|EH RE [SRAKS RO2ANAF =5 14.28] 6.18 20.46




it INFIEBFDER

NIE 5 7R E B G

MBSz | ES 44 P& f2 % ] TEC [ATH Total
1EZ IS 7T 35 £005 NAFaARY 15.12] 6.54 21.66
2|#f L ST $5 A EE R0D2ANAT=HY 14.00] 5.76 19.76




itk INF2EBFDER

ERLRTEER G1

JB{r | KA i@ R4 TEC [ATH Total
1L R EkES HR002NAF=RY 15.54] 6.72 22.26
AL EES EXxE=2 [R102 (/I FY 15.54] 6.42 21.96
J|EEAR ImEd MESXFR |F1002 EVTFo=4Y 1414] 6.12 20.26
4|5 HEB EEREZE [R001 A(TIaxY 13.02] 5.46 18.48
5|gEmE X+ EFEHE=2 (001 A/ T 3R 10.50] 4.50 15.00




MRtk INEIFEFF DA

NIE 5 7R E B G

JB{r | KA i@ R4 TEC [ATH Total
1GEI BA 1E%ES 2005 ANAF7TFY 15.40] 6.48 21.88
EIIERY.S {Ei%ES $£101 /Ny Y A5 4 14.42] 6.36 20.78
3|EIR KH MELEE  [f1005 EL 7L aRY 14.28] 6.06 20.34
4| =H FEE MESXFR (#1005 E 7 oI5 14.14] 6.00 20.14
5| RIII M= {EfkE5 %101 /Ny (5 A 13.86] 5.88 19.74
6|AR EAER |MIESE/E  |f001 EVTF i aFy 13.02] 5.58 18.60
11ER BZE FMESEE  [Fl003 ELTUHLUEY 12.60] 5.46 18.06




itk INFAFEBFDER

AERBEE G1
JB{r | KA i@ R4 TEC [ATH Total
1 EH BAE |RESZEP [R0005ANATFoIFY 16.38] 7.02 23.40
2| X% @B EBRXE=E |R005NAT7IFY 14.84] 6.12 20.96
|BJII BE SRk EE 005 ANAF7OFY 14.70] 6.18 20.88
g[S EFEHE=2 (3001 AfTFTIaFxL KK
S £S5 R004ANATIAVEY KK
AERBE G2
JE{z | KA i@ R4 TEC [ATH Total
1(ZEH BEAR %ﬁx%ﬁﬁlé 2005 NAFOARY 14.84] 6.48 21.32
2| FH Rk EFERE=E [R003ANATUHEY 14.84] 6.36 21.20
FESS ST ﬂ"sc%_i R00IANATF 38 13.86] 6.12 19.98
Al EH WFH MELEE  [Fl002 EL 7V =2y 12.32] 5.34 17.66
=5F BEABR [FIESAFE |F1005 EVTFO4 H
ZiE 53 ERXE=ZE  |R005 A(FoOd8Y KK
B GLRTE R, G
JEf | Ex 44 g e TEC |ATH Total
1 EH BAE |RESZEP %5202 ——/\ (K 16.80] 7.32 24.12
2|EH BER REESZEB [R101 N\vH A5 A 15.96] 6.90 22.86
3| F FHERK EFEHE=2 (3001 AT IaRx 14.98] 6.66 21.64
4| X¥ BB BxE=2 001 NATF a8y 14.70| 6.24 20.94
5|FJI BE SRR EE $101 /Ny A5 4 14.56] 6.18 20.74
6| KEF #4820 EBXE=E 2005 ANAF7OFY 14.42] 6.12 20.54




Rtk INFESEBFDE

AERBEE G1

JB{r | KA i@ R4 TEC [ATH Total
1EH &3 EkES 005 ANAF7OFY 16.10] 6.84 22.94
A TS BRXE=E  |R005NAT72IFY 15.26] 6.60 21.86
3G BHif ERES 2005 ANAF7OFY 14.98] 6.42 21.40
4 BAR MK |BXE=2 FR003ANATIHIEY 14.84] 6.48 21.32
5|54 ¥ MELFEE  [FI003 ELTUHUAEY 14.00] 5.94 19.94
6|FZEE M |(FESE/E  [fl005 EV 7 a3y 13.86] 5.88 19.74
7/2H =EBR [FLESXEFE [F0005 EV7IF Y 12.88] 5.76 18.64

ZERBEL G2

JIE{L | x4 il r4 TEC [ATH Total
g BEA BxE=2 R00IANAT 38 14.98] 6.06 21.04
210 &8 BXE=2 H2003ANATIHEY 1456] 6.24 20.80
3| /iE E 1E%ES 2005 NAF A8 1442] 6.36 20.78
4|t%2@ K5 {E%ES 3005 NAFTOd8 Y 13.44] 6.00 19.44
5|F% T HH EEHRES=2 003 AATUHEY 13.44] 5.70 19.14

H[E K FESEE  |F1201 H— v H)— KK

IERLRTEER G1

JIE{i | x4 il ik TEC [ATH Total
1[EH &3 E 3 $102 EAITFV 16.52] 7.02 23.54
2| WRZE EXE=Z2 [R101/1\yHA54 15.68] 6.60 22.28
3G BHif {E%ES $£101 /NP A5 4 15.40] 6.48 21.88
4|IU8 BEA BXE=E 2005 ANAF7OFY 14.84] 6.24 21.08
5|FRiE B 1EkES %101 /\yH (5 A 14.28] 6.36 20.64
6;20 1&A BERXE=E  |R005A(FLd8 14.56] 6.00 20.56




Rtk INFOFEHF DA

NIE 5 7R E B G

JB{r | KA i@ R4 TEC |ATH Total
1% FEE L85 %202 ——/\A7R 16.80] 7.38 2418
2|/ E #E BRXE=E  |%R202 ——/\(K 16.52] 7.08 23.60
KEZE S EEES %3102 FAITF2 15.82] 7.02 22.84
4|=H BEEk 1E%EIS 2005 NA TR 14.70] 6.36 21.06
5|1#E At MESEE  [f1200 Y— v H— 14.70] 6.30 21.00
6/MIL DK MEsEE 201 9= v H— 13.72] 6.06 19.78
AR BR MEEXHE [F1201 49— v H— KK




Regatr INE1 2 FDER

NIE 5 7R E B G

JB{r | KA i@ R4 TEC [ATH Total
1|ZEH B RESEZEH | R005 AATFLTFY 16.10] 6.84 22.94
2|pkl BR BRE=E |R101./1\yHA(454 15.96] 6.72 22.68
3L = BXE=ZE R00IANAT 38 14.42] 6.18 20.60
4% Yy MESXFR [Fl002 ELT7U=4Y 14.42] 6.18 20.60
HEITES MESEE  [F1001 EVT7oiady 14.28] 6.00 20.28

JEGLREE; G1 (RI&S:1EB)

[ g ik TEC [ATH Total

mE B BXE=2 200N NATFaxy 14.98| 6.42 21.40

1
2% Yy FhESXEE |F1002 ELTFU=S Y 14.84] 6.36 21.20




MRtk INFEIFE X F DA

NIE 5 7R E B G

JB{r | KA i@ R4 TEC [ATH Total
AGRBHIGER [FILESfmE (1201 99— v o— 16.10] 7.08 23.18
2| %Y MESXEFR (F1005 E7odFY 15.40| 6.54 21.94
34 Fifg MELEE  [f1004 ET7LIAVEY 14.14| 5.82 19.96




itk INFAFELFDER

NIE 5 7R E B G

JB{r | KA i@ R4 TEC [ATH Total
&k 28 BxE=2 $201 W.L50—/\( 15.40 6.42 21.82
2|5 PF {E%E5 005 ANAF7 O 15.12] 6.54 21.66
3= EF MESXEFR (f1002 EV 7o =42 14.56] 6.24 20.80
4Nl B5E MELEE  [F1005 EL 7L IRy 14.14] 6.00 20.14
5|=48 {EHR MEESXEHE [Fl002 ELTFU=FY 13.16] 5.88 19.04
6= ]Il —4%L |[EEES 005 ANAF7 O3 12.74] 5.58 18.32




itk INF5-6F K FDE

NIE 5 7R E B G

JB{r | KA i@ R4 TEC [ATH Total
1 RS 1E%ES $£102 EATFY 16.24] 6.78 23.02
2| FEFH/NBE EFEREL=E [R003ANATUHEY 14.98] 6.48 21.46
J[IER IEtk MELEE (1005 EL 7 IRy 14.14] 6.24 20.38
AR Z1E EFERFE=2L [N003AATHE 14.00] 6.24 20.24
5| EfatEE EFIHE=E [003AATUHIE 1400 6.06 20.06
6|=)Il 8 k&GS R00ANATIAVE Y 13.02] 5.52 18.54
Al BE MELSAmEE  [f1201 H9— v H— KK




MBI R T
Wi N6EBF [ w7 =

%
1 ok A

¥ & %
(R 2 2 30
o 2 1% B (RIE 2 KBFED)
3 B E U )
4 @/ t i IENCE P
5 "
6

7

oR

Bt | H

i

B A G ST
CIBCE<E- %1

(% i %)

>|.

N D
%

[
H
=

B R
F A E ¥ AR

B X | R ma
R )
& B | CFma-m
® B | Uk B E B
B (R w)

ot a2 8

@A )5 6FELF

{Ji0

i | o

pii

~—

_Hi
ol o | — | — 0
B H DB ==

F

Z 1 (P )

N o oM w|n

EEF WRE L
O 0(2)

3N M B O om0 —— oW — 4 B A EF A & #oEw
b ~

0
B2
|

15

5 B [ R OFE g L &

3as
Liid

i ' OE U %

[ W Lt & B wsares 3 3“’\ 0“% -------- -6 B B & B =rhew
v :

WYEFE INEEBEF

(’1

g

| B & XS o m oo

EEFE IV ELF v

) BOH B R GmEacws ’ 2 W O D i AR

2 W 3T M oe o w2



BEF N2FEBTF

3 B A I R s kw) v e

1
Vv é D
l mmﬁifﬁ$(fk;ﬁsmug>2ﬁ_ |

& H 8 B ermaew 3

o V

b
BAF 2ELF y )
|

=
C

2 R B OfE muakwm ]

,
~

S

=
j

N E WL D mEaen 2 <
B B R ecaze 3 3 “

EHEF N\3FEF

l OB Gk ) ] ——

moE Al ik%@ﬁwﬁ12¢jw
& o TR O

Git8F IN\IFLF

1_ B oH A B maswn

WlF MEBT
Mo S B orrme w0 K-E?

u{ | 2
B OBE B annsmn 2 —2 y
V. ~
_ 2 \ 0
A E B dEaRE 3

Lo
Bl

iE

H oH 8 K guss iwE) 4 =
l \j

(&3]
1
I
|

= /OB O s W

| S

[62]

i B

I
i

il
H
B
it

)
i

)

e
il

"
AR

2
g B H H

i
H

B =t

i

=P N:

Jw
>t o

5 b
SCIHB

¥ &
R
5
B R
N
SR RER

<¢?mﬁzgk3

S (e {

%)3

®
W
wt
s>

FE 2 83
(FIIE 2 N850 _l
i 8 8

(i@ 28 3

?Mﬁﬁkﬁﬁ\‘

(k8 2 1 %‘E‘)\g

(R 2 & D)
(Tt ) 3
(i 2 KBFIRD
U )

CFfiaE £ KB

Y FREATEY l



EEF NFRF

RS-
e

| &

P B e i oE 8 1
B E R grhar-w 2
B 2 F guaskwk 3

E@iHF J\BFEEF

1@

o

H
7R

m

)

B o s w8 1

0 & A

B Kk B dmaw 3
= Bour ok ow o 4
g I B Guaaamis) 5

QO OHEKER uszae w6
+ B

EFpAR=E 7

EHHF )SHERF

D [

|

il

A F28 GuEs e 1

Ei8F J\eEEF

V)

0

fa
\4

V2

{ 4
, 5
|

b
el
vy
= o)
VA
Sl B ek
—— 3

B o0x 86 v ik o s 0 L ,
- l
Vv
N K g 2 @40 2 o0) 0 \ 2
B E B ok i 3 s o
B OEOA mmsam a4 — vt
0
BT N6FELF
o = i v
5 o ok o o8 ;
” 1 Yyl s
B & xrma-8 2 X
AR B K mEsein 3‘/\_' ! V.5

3IE

u/'_a}“ .
— 5
Q0

N

I\

It

ai

s}

RE

ol

Tt

B 5 R

E &
—4%4L
it HA
A
E &

(R E 2> & i) \i
(GOSN BT ))

(FihE & KEPIF)

2L

(C R -3
r B E 5

(FBE & KRB

B O’
7 -
*h
e
N B

(&
I‘g 5@

(R 38 2 78 #)

(iIj 22 KB
il 2 8 S
(w18 [

(ETHE 8
(S T |

(EEHEE)





